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Test One

Part | Listening Comprehension (15 minutes)

Directions; This part is to test your listening ability. It consists of 3 sections.

Section A

Directions : This section is to test your ability to give proper responses. There are 5 recorded questions
in it. After each question, there is a pause. The questions will be spoken two times.
When you hear a question, you should decide on the correct answer from the 4 choices
marked A), B), C)and D) given in your test paper. Then you should mark the
corresponding letter on the ANSWER SHEET with a single line through the center.

Example : You will hear ; Could you leave me a message ?
You will read : A) I'm not sure. B) You're right.
C) Yes, certainly. D) That’s interesting.
From the question we learn that the speaker is asking the listener to leave a message .

Therefore, “C) Yes, certainly. ” is the correct answer. You should mark C ) on the

ANSWER SHEET.

Now the test will begin.

1.A)Yes, please. B) No problem. C) I don’t feel very well. D) Well, irs OK.
2. A)I've had enough. B) Here you are.
C)1 have no time. D) No, thank you.
3. A)No, please. B) You are very kind.
C)Td like to take a piece of bread. D) Good morning.
4. A)100 yuan a day. B) Are you single?
C)Single or double ? D) No, thank you.
5. A)Ivs about 800 meters away. B)It’s not far.

— 7 —
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C)You can take a bus. D) You can get there in five minutes.

Section B

Directions; This section is to test your ability to understand short dialogues. There are 5 recorded
dialogues in it. Afier each dialogue, there is a recorded question. Both the dialogues
and questions will be spoken two times. When you hear a question, you should decide
on the correct answer from the 4 choices marked A) , B) , C)and D) given in your test

paper. Then you should mark the corresponding letter on the ANSWER SHEET with a

single line through the center.

6. A) The book costs 30 cents more at the book fair.
B) Last year the book was one and half of the price .
C) The book is more expensive than last year .

D) The woman read the book three times as fast as the man did .

7.A)7.08. B)7.53. C)8:07. D)5.50.
8. A)On a plane. B)On a train.

C) At home. D) At a restaurant.
9. A) Susan often loses her key. B) Susan has noting to do.

C)Susan is a new comer. D) Susan has a new key.

10. A) The woman had two tickets.
B) The woman didn’t go to see the play.
C) The man gave the ticket to the woman.

D) The woman went to see the play.

Section C

Directions: In this section you will hear a recorded short passage. The passage is printed in the test
paper, but with some words or phrases missing. The passage will be read three times.
During the second reading , you are required to put the missing words or phrases on the

ANSWER SHEET in order of the numbered blanks according to what you hear. The
third reading is for you to check your writing. Now listen to the passage.

In 1620, about half the USA was __ 11 __ by forests. Today the forests have almost gone. A
lot of good land has gone with them , leaving only sand. China doesn’t want to copy the USA’s
example. We're 12 more and more trees. We’ve built the “Great Green Wall” of trees
across the 13 _ part of our country. The Great Green Wall is 7,000 kilometers long, and
between 400 and 1,700 kilometers 14 __. It will stop the wind from blowing the earth away. It

will stop the sand from moving towards the __ 15 __ farmland in the south.
Part [I Vocabulary & Structure (15 minutes)
Directions: This part is to test your ability to use words and phrases correctly to construct

— 8 —
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meaningful and grammatically correct sentences. It consists of 2 sections.

Section A

Directions : In this section, there are 10 incomplete sentences. You are required to complete each one
by deciding on the most appropriate word or words from the 4 choices marked A) , B) ,
C)and D). Then you should mark the corresponding letter on the ANSWER SHEET

with a single line through the center.

16. Hearing the bell announcing the end of school , all students __ from their books.
A) raised B) raised up C) looked down D) looked up
17. This year the flea market wasn’t it was last year.
A)as good than B) as better as C)as good as D)so better as
18. Why to the marketplace ?
A) don’t B)to go C)not go D) going
19. He is always breaking his promise. You can't __ him that much.
A) count on B) count in C) count up D) count down
20.__ | Peter came in.
A) While wait for Andrew B ) Wait for Andrew
C) Since waiting for Andrew D) While she was waiting for Andrew
21. Anne caught her husband home late and drunk , so she would divorce him.
A) coming B) come C)to come D) came
22. Many banks allow a customer monthly statements right at the ATM.
A) printing B) print C)to print D) printed
23. The great leap today builds thousands of minor steps yesterday .
A)up B)on C)into D) from
24. The teacher suggested Ben ___ at least one hour listening to the tape every day .
A) spend B) spends C ) will spend D)is spending
25.The CD player ___ today can be a digital talking book .
A)in use B)in useful C) using D)in usage
Section B

Directions; There are also 10 incomplete statements here. You should fill in each blank with the

proper form of the word given in brackets. Write the word or words in the corresponding

space on the ANSWER SHEET .

26. After reloading some pages, | clicked on a button for _ (update) information.
27. Although he was (deep) hurt by what she said to him. He made no reply.
28. Wereopen _ (day) from 10;00 a. m. to 9:30 p. m.

29. The banker memorized the vehicle license number , and ____ (call) the police.

30. Thisisa — (danger) road — there were at least 2 accidents last week.

— 9 —
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31.Online love is — (difference) from off-line love and can raise a set of totally different
problems.

32. That didn’t stop me from (check) out what the entire flea market had to offer.

33. He lives a very simple life. It was ___ (usual) for him to spend so much money , which

really puzzled me.

34.To tell youthe __ (true), I didn’t think he could manage it.
35.Twasreally — (excite) to have got that book for only twelve dollars.
Part [ Reading Comprehension (40 minutes)

Directions: This part is to test your reading ability. There are 5 tasks for you to fulfill.
You should read the materials carefully and do the tasks as you are instructed.

Task 1

Directions; Afier reading the following passage ,you will find 5 questions or unfinished statements ,
numbered 36 to 40. For each question or statement there are 4 choices marked A) ,B) ,
C)and D). You should make the correct choice and mark the corresponding letter on
the ANSWER SHEET with a single line through the center.

When I was younger , my mother and father would pack us all up early in the morning and we
would head out to the woods. There we would cut wood for extra money during the winter. I re-
member one winter when the wood we cut just wasn 't selling as it did before. My birthday hap-
pened to fall four days after Christmas and it was hard to do things for my birthday . Mom and Dad
always seemed to come up with something but this particular winter looked different .

On my birthday , some wood happened to sell. Mom and Dad rushed to the store and bought
me a doll and the makings for a birthday cake. When they returned from the store , they told us
girls to get ready for we were going out to eat. Back then we very seldom ate out and when we did
it was a special treat. We went to the Western Sizzlin restaurant and ate buffet. My sister just
loved salads and fixed her a big bowlful . She came back to the table and began eating her salad .
After a few minutes my mother found that my sister’s eyes were watering. My mom asked her what

the matter was. My sister said that the pickles (#I3%) in her salad was hot.

36. What would the family do when the author was younger ?
A) They would go to the woods for a picnic.
B) They would cut wood for extra money .
C) They would plant trees in the woods .
D) They would walk in the woods for leisure .
37. When is the author’s birthday ¢
A) December 25. B) January 1.
C) January 4. D) December 29.
38. Why did this particular winter look different ¢
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A) Because the wood we cut just wasn’t selling as well as before.
B) Because we couldn’t cut wood as we did before .
C) Because there was no wood to cut this winter .
D) Not given.
39. What did the author’s parents buy for her birthday ?
A) A doll and a birthday cake.
B) A doll and the makings for a birthday cake .
C) A birthday cake.

D) A doll.

40. Did the family often go out to eat?
A)Yes, they did. B)No, they never.
C)No, they seldom did. D) Yes, very often.

Task 2

Directions: This task is the same as Task 1. The 5 questions or unfinished statements are numbered
41 to 45.

An E-book , also known as an electronic ( HFHJ) book, is an electronic version (JRA) of
a print book that you can download ( F%%) and read. What you need in order to read an E-book
is an E-book Reader, which is a kind of free software used by your computer. Make sure you have
the proper Reader before you download your E -book from the Internet. The software allows you to
turn the words on the screen into proper size you like . It also helps you turn pages and change
your choice of viewing. E-books are a fun alternative to regular books. You can download them to
any computer , including your portable (fH#£5(0) computer so you can take them with you when
you travel , and create your own library of hundreds of titles. Best of all, when you order an
E-book, there is no waiting and no shipping or handling charges . The amount of time it takes to

download your E-book depends on the speed of your connection and the size of your book .

41. From this passage , we know that an E-book
A) can be read by any reader who has a computer
B) should be read with the help of a special kind of software
C)is a print form of a book often found in libraries
D) can be downloaded by turning on the computer
42. The E-book Reader is useful for
A) turning a print book into an electronic version
B) opening an E-book in any computer
C) downloading an E-book from the Internet
D) finding fun alternatives to an E -book
43. From this passage , we can learn that

A)reading an E-book involves a lot of trouble
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B) the ordered E-books have to be shipped to you
C)you can order an E-book from the E-book Reader
D) travelers can create an E-book on a portable computer
44. Which of the following statements is TRUE ¢
A) An E-book can be obtained through the Internet .
B) The size of the words in an E-book cannot be changed.
C) An E-book is ordered in the same way as a print book .
D) One has to pay some money to get an E-hook Reader.
45. Which of the following would be the best title of the passage ¢
A) Choices of E-books. B) Advantages of E-books.
C) Introduction to E-books. D) Importance of E-books.

Task 3

Directions: The following is an advertisement. Afier reading it , you should complete the information
by filling in the blanks marked 46 to 50 in no more than 3 words in the table below.

The business memo ( £ 5i %) is probably the most frequently used communication form
within a company. It is called an intra-company communication because it is used by people in
their own company or organization. They change to letters, however, when they write messages to
people who do not work for their company .

A memo creates a written record that may or may not be filed , depending on the receiver and
the subject. As you know, spoken messages may be misunderstood or forgotten. A memo,
however, becomes a record that does much to ensure the complete communication between the
sender and the receiver.

The standard form of a memo frequently carries a re -printed series of items : To, From, Date,
and Subject. The first two items include the names of the receiver and the sender . A well-written

subject line tells the reader the key topic or topics the memo is about .

4 N

Business Memo
Function : for communication within a __ 46 __
Purpose ;
1)to keepa __ 47 __
2)to 48 __ the complete communication
Ttems involved :

1) Receiver

2)_.49
3) Date
4)_50 _
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Task 4

Directions : The following is a list of terms frequently used in medical services. After reading it, you

are required to find the items equivalent to (5-+---- ZE[A)) those given in Chinese below

the list. Then you should put the corresponding letters in the brackets on the ANSWER

SHEET , numbered 51 to 55.

A — Banking

B — Business opportunity
C — Career

D — Continuing Education
E — Computers

I — Customer Service

G — Drivers

H — Employment Agencies

I — General

J — Government opportunities
K — Insurance
L — Management

M — Medical Treatment

N — Office

O — Restaurant/ Hotel
P — Sales

(Q — Services

R — Skilled/Technical

Example: (R) ZAZRM/HANE

51.( ) B

52. ( ) BV AL
53. ( ) D HLZS
54. ( )R /A
55. ( VRS

1 (K) fh

)BT
H PGS
)
)AL

) ik

A~ N /N /N

Task 5

Directions : There is an advertisement below. Afier reading it , you are required to complete the state-

ments that follow the questions ( No.56 to No.60). You should write your answers in
no more than 3 words on the ANSWER SHEET correspondingly.

REA’ S Problem Solver Books

®  Designed to save students’ hours of time in finding solutions to problems

® Include every type of problems that might be given in exams

® All problems are worked out with detailed step -by-step illustrations ( 1iHH)

® They are essential supplements (#M7) to all class texts

®  Over 1,000 pages in each book

®  Each book is the first of its kind ever produced in its field

Outlines of each book are given on the inside pages of this announcement .

If books cannot be ordered through your teacher , use the ordering form attached to this announce -

ment and mail it directly to us at REA ( Research & Education Association ). REA makes it a



